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ih FE1Hhm gE23h s (LR S5 34 (TR
B OF = 5cm 100cm 5cm 100cm 5cm 100cm
Bl E B oZl| 13:10 13:12 13:46 13:48 13:28 13:30
B E B 0129 0.124 0.133 0.097 0.123 0.128
HI [@ L& #&| -0.008 0.003 0.004 0.003 0.000 0.009
ih FEath = (3H) 54 = (FEfAl) ot s (A
B OF = 5cm 100cm 5cm 100cm 5cm 100cm
Bl E B Zl| 13:33 13:35 13:18 13:20 13:14 13:16
B ¥ {E o0.101 0.123 0.126 0.143 0.104 0.067
Bl [ Eb 8| 0.002 0.012 0.009 -0.010 0.018 0.001
XEES 6 R T, HIKEIETRIENTEL-OEMRNTRIELT =,
Hh E7H R (3HA) g8t m (F=Xa—}) FEoHhm (JRHELE)
B OF = 5cm 100cm 5cm 100cm 5cm 100cm
B E B %l 13:23 13:25 13:00 13:02 13:06 13:08
B ¥ {E 0117 0.119 0.122 0.128 0.096 0.089
Bl [@ Lt | 0.004 0.001 -0.010 0.004 -0.021 0.003
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B OF = 5cm 100cm 5cm 100cm 5cm 100cm
Bl E B oZl| 13:08 13:10 13:45 13:47 13:26 13:28
B E B 0137 0.121 0.129 0.094 0.123 0.119
Bl [E tb 8| 0.003 -0.002 0.003 0.011 -0.012 0.001
Hh FEah g (55%) 54 A (Ffal) ot s (A
B OF = 5cm 100cm 5cm 100cm 5cm 100cm
Bl E B %Il 13:31 13:33 13:16 13:18 13:11 13:13
B ¥ {E| 0.099 0.111 0.117 0.153 0.086 0.066
Bl [ tb 8| -0.010 -0.019 -0.007 0.024 0.001 -0.009
XEES 6 R T, HIKEIETRIENTEL-OEMRNTRIELT =,
Hh E7H R (3HA) g8t m (F=Xa—}) FEoHhm (JRHELE)
B OF = 5cm 100cm 5cm 100cm 5cm 100cm
B E B %l 13:21 13:23 13:00 13:02 13:05 13:07
B ¥ {E 0113 0.118 0.132 0.124 0.117 0.086
Bl [@ b #&| -0.011 -0.009 0.021 -0.001 0.012 -0.003
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B OF = 5cm 100cm 5cm 100cm 5cm 100cm
Bl E B oZl| 13:09 13:11 13:46 13:48 13:29 13:31
B F B[ 0134 0.123 0.126 0.083 0.135 0.118
Bl [E tb & 0.004 -0.004 0.011 -0.003 0.004 0.004
Hh FEah g (55%) 54 A (Ffal) ot s (A
B OF = 5cm 100cm 5cm 100cm 5cm 100cm
Bl E B oZl| 13:34 13:36 13:19 13:21 13:13 13:15
B ¥ {E| 0.109 0.130 0.124 0.129 0.085 0.075
Bl [ Eb 8| 0.003 0.003 0.004 -0.005 0.004 0.001
XEES 6 R T, HIKEIETRIENTEL-OEMRNTRIELT =,
Hh E7H R (3HA) g8t m (F=Xa—}) FEoHhm (JRHELE)
B OF = 5cm 100cm 5cm 100cm 5cm 100cm
B E B %l 13:25 13:27 13:00 13:02 13:05 13:07
B ¥ {E| 0124 0.127 0.111 0.125 0.105 0.089
Bl [@ L& | 0.014 0.016 -0.021 0.010 0.008 0.003
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B OF = 5cm 100cm 5cm 100cm 5cm 100cm
Bl E B oZl| 13:09 13:11 13:45 13:47 13:26 13:28
B F fE| 0130 0.127 0.115 0.086 0.131 0.114
Bl [E tb 8| 0.009 0.022 -0.005 ~0.001 0.024 0.001
ih FEath = (3H) 54 = (FEfAl) ot s (A
B OF = 5cm 100cm 5cm 100cm 5cm 100cm
Bl E B oZl| 13:32 13:34 13:18 13:20 13:13 13:15
B ¥ {E| 0.106 0.127 0.120 0.134 0.081 0.074
Bl [ tb 8| 0.009 0.018 0.004 0.002 -0.005 0.012
XEES 6 R T, HIKEIETRIENTEL-OEMRNTRIELT =,
Hh E7H R (3HA) g8t m (F=Xa—}) FEoHhm (JRHELE)
B OF = 5cm 100cm 5cm 100cm 5cm 100cm
B E B oIl 13:22 13:24 13:00 13:02 13:05 13:07
B ¥ {E o0.110 0.111 0.132 0.115 0.097 0.086
Bl [@ L& | 0.003 -0.009 0.015 0.006 -0.003 0.001




D) -t 4 —ButiRE R ICE T ER SR ERERR

£ & B:
1 g
Al E oS
B fiz

ER284F 38 18
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ih FE1Hhm gE23h s (LR S5 34 (TR
B OF = 5cm 100cm 5cm 100cm 5cm 100cm
Bl E B oZl| 13:10 13:12 13:45 13:47 13:27 13:29
B F fE| 0121 0.105 0.120 0.087 0.107 0.113
Bl [E tb & 0.004 -0.011 0.001 0.007 -0.008 0.007
ih FEath = (3H) 54 = (FEfAl) ot s (A
B OF = 5cm 100cm 5cm 100cm 5cm 100cm
Bl E B oZl| 13:32 13:34 13:19 13:21 13:14 13:16
B ¥ {E| 0.097 0.109 0.116 0.132 0.086 0.062
Bl [ Eb 8| 0.005 0.013 0.007 0.002 0.008 -0.007
XEES 6 R T, HIKEIETRIENTEL-OEMRNTRIELT =,
Hh E7H R (3HA) g8t m (F=Xa—}) FEoHhm (JRHELE)
B OF = 5cm 100cm 5cm 100cm 5cm 100cm
B E B oIl 13:22 13:24 13:00 13:02 13:05 13:07
B ¥ {E| 0.107 0.120 0.117 0.109 0.100 0.085
Bl [@ L& | -0.009 0.003 0.012 0.003 0.003 0.006
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	放射能測定 周辺放射能測定（平成27年4月6日～） HP
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